TRICHY RACE ACADEMY

COACHING FOR TNPSC/BANK/SSC/RRB/TET

OPERATION - 175 - DAY -5 (POLITY & MATHS)

1. 1) President is the leader of State Legislative

Assembly

2) State Legislative council do not participate in
President Election

1) Bursd HmevaT MHEY FL L LD6INEE )60
HEN6EVEUT

2) GLWIHDH HmevalT CHTHeV6DL LDTHEVFL L
gl URICHBH660m6L.

a. Only I true b. Only Il true

c. Both are true d. None are true

1) Appointment of UPSC members is the
legislative power of the President
2) Ordinance power should be used only when
both the sessions of Parliament is absent
1) UPSC 2_gitifenitaenen Buidiig)
GWTHSHHmevalfler &1L LOWBBID
SIS BMTLOTGHLD.
2) LUMTEHLOTBES 6T QTamih Dieneldere
G LD BHewL Quprsh Gurgsl SLLemer
SIS
Lwedu(BLd
a. Only I true
c. Both are true

b. Only Il true
d. None are true

In Which of the following state, panchayatraj
system was introduced for first time?

LeiteumLD  6THSHLOMHIVSHH60 LichFTWSHSHITTER
SILLD (ST (PpSHedled BIIPSLILIGSSILL L GI.
a. Maharashtra b. Rajasthan

c. Jharkhand d. Bihar

1) Removal of Vice-President can be initiated in
both the houses of Parliament

2) When President term exceeds five years, Vice-
President should act as a President

1) prLmEbLaTmS ST @b i6meus afley|d
816960018
GWr&ES semeveuj ugail F&sLD
Q& uwILILL6VTLD
2) GlwrsEssmevauflen 5 SLeiBH6T HTeVID
BlemeuenL_UjlD GUITEH Hiewewid GIQUITaid
HMEVAUT GPUWTFHHMEVTTH  CFWLLIBOUTIT.
a. Only | true b. Only Il true
c. Both are true d. None are true

1) Money Bill can only be introduced in LokSabha

2) Ordinary Bill can have joint sitting

3) President can use pocket veto power for
Constitutional Amendment Bills.

1) uewor LCEFTHTEMEU L&HBHeTEMeUUTEL WL [HEL
STEHS6L CQFUWIW (LplguLd

2) gngmyewn WGCFTHT Fal (B LDFM6US
Q& m6vT1Y. (5 & & 6VITLD

3) aipflwevenwoliy HHhHS WCEFTHTEEEHE S
oarrHud) ursEQsl efiCLm

3FeMIHMmSLI
w6t (B &S 60Ld.

a. 1, 2 correct

c. 1, 3 correct

b. 2, 3 correct
d. All are correct

. Which of the following case specify Article 356?

a. Minerva Mills case b. Bommai Case
c. Golaknath Case d. Durairajan Case
NedTeu(hLD 6THG 6ULP & (G 356 6 ETHMS
CIIERNCEAI: T

a. LoleTTeum LHl6LETL EULPSGD. QUITLDEMLD CULP& (S
C. CHEMeLEBHTS QPSS . HIEMITTRE Q&S
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7. 1) According to 93 Amendment Act of 2011,

15% of member of Loksabha can be came
ministers.

2) No Minister can be appointed by President
without becoming member of Parliament

1) 2011 o1 oy, 6v0T1q 65T 936G FLL
H®HSHPetulg, & SHaTemen 2 MLLle )& efled
15% GUI QIMLDEFTHATTS UFEVITLD.

2) uNymEDHLO6TM 2 MILIIETTTSTLO6L 6TTHS G 6T
SO EFFMTULD QeoTTH LS wImeL HWLH& 5
Wi W)

a. Only 1 true
c. Both are true

b. Only 2 true
d. None are true

In Which of the following Prime Minister tenure
Kitchen Cabinet was present?

a. Nehru b. Indira Gandhi

c. Rajiv Gandhi d. NarasimaRao
Hereu(pLd eThSLI LNFHLOT LG aIS &Te0 & H6L
&fl&g6in CaLlaTL QhHSHEI?

a. Ch® b. @Ay HMHH

C. png8eu &MHH d. By&ibLo Fmel

1) Parliament is incharge for amending the
constitution
2) Parliament can amend any part of the
constitution
1) sipflwevsminlisnu S GIb QuUITMILIL
UMgmEhLO6THSHMHEG 2 6Teng)
2) sipflwevenoILfl6dr 6ThH LI LG SHemwiu]Ld
LUMImE@pHLO6TMLD &)(HS & 6LITLD
a. Only 1 true b. Only 2 true
c. Both are true d. None are true

10.

11.

12.

1) Article 368 specifies amending power of the
constitution

2) Article 352 specifies National Emergency

3) There is no representation of Union territories

in Parliament.

1) 368-eugy) My sipflwevemioLiNer HbsHS
AgsMygms SHULIIEGEMS)

2) 8558 352 GCHEW JleusTHmeLMWS
GHINGADS

3)unrpmEeparmSHed Wy eflwes LNyCs s s afler
My SblES gleuLd @evemev

a. 1, 2 correct b. 2, 3 correct

c. 1, 3 correct d. All correct

Which of the following were features of

parliamentary form of Government?

1) Majority Rule 2) Responsible Government

3) Alternate form of Government

4) Seperation of Powers

111637 611 (T 621 69T 6 D 1 6L 6T 6MIEU 34 [J FITTHal & & &) 65T

LITJITE@BLO6ITD 611g.618 H 60T LD FMHIG 6T ?

1) Qu@sburersn el  2) QuIrmILieiTer &

3) SIPEMMHISSH 6T LDMHM)] 6Mlg6LD

4) siglsny udljey

a.1,2,3 b.2,34 c13,4 d. All

Which of the following were Unitary features of

Constitution?

a. Single Constitution

c. Flexible Constitution

d. Emergency Provisions

191637 61 (1 621 60T 6 D 11 6L 34 [J &1t 6L 6MLOLILTI 65T

b. Rigid Constitution

@MMMWTL & ILDFMIS 6T WITEH6U?
a. MMM 3FFW6VLEMLOLIL]
b. &@emLowimer AFHWeLeMLOLIL]
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13.

14.

15.

C. Q&I EUTETT HTHWICLEMLOLIL|

d. S1euErsmev FHUM®E 6T

a.1,2,3 b.23,4 c.1,34 d. All
Which of the following amendment specifies
municipalities?

ereu(pLd 6ThHSHS H(HSHHLD HSTTLE&6m6s

GHUINEEDE °
a.73¢  b.74" c. 75" d. 76"
1) Supreme Court can review all in the ninth

schedule
2) Ninth schedule was present in the original
constitution
1) 2 ssfFweTMD @ETUSTOUG)
S3IL_L6uemeoruiled
SI6M6TT &M G U|LD LOM| 3416 QEFIWIEVITLD
2) 21860 SITHWELEMLOLILTICD cR6TTLISTEUS)
SlL_Leuen 6ot @(51HS G
a. Only I true
c. Both are true

b. Only Il true
d. None are true

1) Article 143 specifies Advisory powers of the
President
2) President have some discretionary powers in 5"
and 6" schedule matters
3) Governor is the head of the state
4) According to 7" Amendment, Governor can be
appointed for two or more states.
1) e85 143 gamguduiler g, Ceomssnen
AFHsMImsmens GMHUIGSmG)
2) Seug LOHMILD 6618 SIL_L 616 6T0r
allagwimiseaflev
oarmHuds@ Hev all(HLu HHSTS 6T
2_eiTer 6ot
3) seujeury LOMIH6VL & H)6HT &6M6v 6y
4) 7-6ug) H(®55SSHeiLIg UettI(B LVGI
ABDEG

16.

17.

18.

GUMHUL L LOMBELRISEHEE b EbH
HIWLO1S & LILIL6VMTLD.
a.1,2,3 b.234

c.134 d. All

1) Inter-State Council was formed due to the
recommendation of Sarkaria Commission

2) Sarkaria Commission was formed to review
Central-State Relations

1) sgssrilwm siilagefler LflhgmTWITeL
L MHeVMISEHSE B eOL CUIWITET & 66T &l6b
2 (HUMTSHSLILILL G|

2) LHHW-IH6L 2 M6&MENT Syliley Qauiw
F7&HSTHIWT HLO1OQ60T 2 (HeUTSHSLILLLG)

a. Only | true b. Only Il true

c. Both are true d. None are true

1) 80™ Amendment Act increase the shares of tax
revenue to 29%
2) It was implemented according to 10" finance
commission
1) 806ug) L ;5L euifl eumeumuilesr
UGS emen 29% 2 WSS g
2) @8l 106ug) HIF 346 6w0TLIS Sl60T Lilg
SieLuBHFLILLL G
a. Only | true
c. Both are true

b. Only Il true
d. None are true

1) Governor is appointed by indirect elections

2) Governor can be removed at any time by State
Government

1) seujeryj MG CHFH6L CLP6LLD
HwLi & & LuG S oy

2) seuieen(y LOMFl6L S TLIGCLITG)
GeuevorBLomeTmeYILD 1588 60MLD

a. Only | true b. Only Il true
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19.

20.

c. Both are true d. None are true

1) There are totally three sessions in the
Parliament
2) President can summon and adjourn each and
every meeting
1) BILmMEpL6TMSH 6L QMg SLd CLpsiTm)
SILOIT6Y& 6T
2_6iTem 60T
2) garmHud epeuCaun [ ol L&D Snl lq
@55 606U& 56VITLD
a. Only I true
c. Both are true

b. Only Il true
d. None are true

1) According to constitution, President can be
removed by Special majority by the Parliament

2) No President have been impeached so far.

3) Three member committee will be appointed by
President to inquire the case

1) sipflwevemoIfeir Lilg. LIMIITEHLO65TM & 6L
SmuyY Qu(GLUTETEHLD RearmHudHenw Lgeai
B&&L Q&uwevmd

2) @gleueny eThg RermdudHu|bd ugei 58
QawwtuLefevsmnev.

3) aupsms allenflés cperm) Cui G5 meuorL

S1CY
ermHuSwmed HIwLd& s LKL

a. 1, 2 correct b. 2, 3 correct

c. Only 2 correct d. All correct

21. Which one of the following is the feature of the

Parliamentary system in India:

22.

A) The ministers are appointed by the President.

B) The ministers are collectively responsible to the
President.

C) The ministers sink and sail together.

D) The ministers hold office during the pleasure of
the President.

NetT6uHeueTeUDHMICD 615 @ibHwimeilesr
LITJTE@HLO6GITD SI6MLOLILTI6H HLDFLOM(GLD:
A) SIS 6T Q6T HLSHWIT6L
HwLh & &LLG & 6iTm 6ot
B) simw&sjsen Qarnduds@ salHL
QummyLL.
C) SIMLOEFTS6IT 660TMITS LILICTITLD
QEWEH TS 6.
D) gamdud) usall smevsder
CUTEI S OO &(] & 61T
ugell euls &leirmeriy

Study the following statements and choose correct
statements:
1. The Prime Minister is appointed by the
President in India.
2. The President is appointed by the Lok Sabha in
India.
MNeiTeuhLd SIM1& 088 6meNLI Lilg.& &) &Fluimest
3IM &M &M S C&T1H0S(H &S LD:
1. @n&Hlwmailsd GlgWrs:s &eneveurmed LGOI
Wil & s LuG Hm.
2. @nHwmallsL o6& aTemeumeL DermHLd
HwLi & s LuG S o
A) 1is true but 2 is false,
B) 2 is true but 1 is false.
C) 1 and 2 both are true.
D) 1 and 2 both are false.
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23. The quorum to hold a meeting of a House of the

State Legislature shall be:
a) Thirty members or one-tenth of total
membership whichever is less
b) One-half of the total membership of the House
c) One-tenth of the total membership of the House
d) Ten members or one-tenth of total membership
whichever is more
rHlev FLLLU GUImeuullei Fal L &6mg
BLSGIUGHD&Ter CHMLD:
a) (Wuugl 2 MINNETT&6T 3i6L6vG) QLTSS
2 mullerjsefle LGH6L 6 (Ih LIMkIG 6T
Gmmey|
b) semuufler Qs 2 miriilery
6T 60071 65018 601 & Ul 6L
umg
C) gemuuiiett QTS 2 milifery
6T 6007 65018 600 & LTl 6L
LSF6L R LIS
d) ug g 2 MILNETTS 6T 6LV AMTSS
2 miuflerjsefleb usHev e, LMIG 68
AH&LOMS 2_6iTeng)

24. Which of the following statements is not correct?

a) The maximum number of members in the Lok
Sabha can be 552

b) Only Delhi and Puducherry have elected
members in the Rajya Sabha

c) The age limit for voting was reduced from 21
years to 18 years by the 65th Constitutional
Amendment.

d) Lok Sabha Speaker does not take oath

NetreupLd Famm)&efled 618 Filuisvev?

a) W& searemeauileb JFsLL & 2 M6 s efieor
6T6oT 6w 15 6m8 552 94,8 @\(H&GLD

b) QAL6vLeS) oHmMILD LFIFCEFRNUNEL 1 HGLo

25.

26.

CHIHOsHSSULLL FTrRWEUT
2 M6y & 6it
2_eiTeneoriy
C) 65 eug) SIpflwevemIdLIL] H(155SHS I CLH6vLD
aUT&&af&H @G euw g euyLbl 21-601([Bh G| 18
OB HET 4,8 GHMMESHLILLL G
d) Geomsgum suMBTWSH LGENILNFLOM6UOTLD
Qewiwaisvemev

Which state with special status has been given a
separate constitution?

A) Nagaland B) Mizoram
C) Jammu and Kashmir D) Arunachal Pradesh
ADLIY SIbHE0F] ASTRIL b5 LTHOSHDEG
H6ofl ATHAWEL FLL LD eupmIsLUL (heTeng) ?

B) wWG&myLd

D) simewimggen

A) BISTeLNHS)

C) g sreaglliy

HNyGCsH&LD

Which one of the following is true with regard to

the Governor?

A) Governor is elected by the state assembly of
the state.

B) He is elected by the people of the state.

C) He is nominated on the advice of the Vice-

President.

D) He is appointed by the President.

SaUjereniL QUITMISHS eI

LN6tT 61 (1 6u 6T EUMH M6V 6T G 2_650T6MILD?

A) seuijerj LM 6V S H 6T LOMIFl6L FL_L F6mLILITED
CoiHosH&SLILGH DT

B) si6uij omflev &S emeL

CoimHOsH SSLLLL6uI.

C) gismewor ReormHlugufesr oy, Ceorm g 6mevruilear

Gurflev
Si6uff MWL 6oTLd QFWIWILILL (B 6TETTIy.

D) sieui mearmuHwimeo Mwifssiu® oy
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27.

28.

As per the Constitution (74th Amendment) Act,
Legislatures of States have not been conferred the
power to empower municipalities with the
responsibility of:
A) Preparation of plans for economic
development and social justice
B) Management of law and order
C) Implementation of schemes as may be
entrusted to them
D) Levy, collection and appropriation of taxes,
duties, tolls, etc
ATSWevenoLIL (746uGl H(HSHSLD) FLLSHevTLg,
Lomrihl6v i &6rfl6dT &L L_LD 63T MM & (615 & (S
HSITLESEH5E AHSTILD 16fl&GLD 6THS
AFHSMILD QULPMHISLILL O1l606m6L. .
A) QUITBETTHIY euemTj&S HMILD FCLPS
155\ & & meor
S L& emens Wrifs g ev
B) &L L1b e GLo6LT6TITemLD
C) SieuisEns G @LUUMLSSLILLL
SILL_M1&emer
QFweLLI(B S FIFH6L
D) euflsei, &mis 6uifl& et GLIT6bTm 6 N 6oT
Qeve),
UF,60 LOHMID 28ISEE

Which one of the following functions is not the
concern of the Local Government in India?

A) Public health B) Sanitation

C) Public utility service

D) Maintenance of public order
Nereupd Qgweoum® &eaflev 618 @ibHwmailesr
2_6ITCONH ] ST EF RIS & S\ 60T FLOLIHSHLO6L6V?

A) Qurg &sngnyb B) s&&rgmyb

29.

30.

31.

32.

C) Qumg) uwsirumr H C&smeu

D) Qung) sp(priusmsLl LFTLOHS S 60

which of the following Amendments to
constitution of india grants a constitutional status
to " Panchayatraj System" ?

A& 3i7&wevenLOLILT6HT LT60T 6w (HLD

(5 HMmi56f6L 6Tg) "LEHETILSH G TR
SIMLOLILSS" HTHWEVEMLDLIL S[hG6NVM G
QUPRIGSSI

a. 71st Amendment
c. 73st Amendment

b. 72st Amendment
d. 75st Amendment

The three tier system of local government does not
include the-------

a. Panchayat Samiti  b. Village Committee

c. Gram Panchayat  d. Zila parisid
2_etenmL_Suiledt eLpeTm] 316G &G S16nLoLILTl6L 6T G
2 6L & SLILL ell6L6m6v

a. uErEMWS G 1018 b. HTs &

C. &gmo LEhFTWSF d. Heor ufags

The list price of a frock is Rs.220. A discount of
20% on sales is announced. What is the amount of
discount on it and its selling price?

@Mm2_6mL Ul UL lgulsd ellewey 220 eHUTUL.  DIFH6ed

BLIEN6TU 60 20% H6TTETHLIG 6631 M|
SiflellBSLILIL (H6TeN ). © enL_ufledr GLosv
H6NEDHLIG6TENRNIENTE)]? DIH6T SNBLIENEIeN6V6T6I6 ?
a. 22, 86 b. 33,98

c. 55, 183 d. 44,176

A man bought an old bicycle for Rs. 1,250. He
spent Rs. 250 on its repairs. He then sold it for
Rs.1,400. Find his loss percentage.
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33.

34.

35.

36.

RHUMLPWILO Flausuingenuieh. 1,2505 G
GUITTRISS GOTITIT. SDIHEMENF FMuBHHm.250
OF6v6)CFUISHTT. Sleuit SiHemeth. 11,4006
BBIT. Sieufled Bl L FHAIBHHMHH SHT6wIHb.

a.6.67% Db. 6.60% c. 6.68% d. 6.65%

QHBUIT

A man bought an old bicycle for Rs. 1,250. He
spent Rs. 250 on its repairs. He then sold it for Rs.
1,400. Find his gain or loss percentage

Q(HBUT QHULWILA FleuemTigenul,ih.1,2505 G
QUMTRIGS|GOTTIT. DISHMNFTUBHSHH.250
OF6v6)CFUISHTT. SleUT SIHem61eH. 1,40085 @
BB, SIGUHENLULIEVTLILD

SIGVEVHIBL L HNHBTEWI. (FH6NHHSHI60)
a. Loss 6.67% b. Gain 6.67%
c. Loss 20% d. Loss 6%

Ram sold a watch at Rs. 405 and earned a profit of
20%. What was his cost price?

gmD  eTedtLiedT 20%60MLIS S BEH.405-5G
POHBHQYEMTHMBABBTE0 D60

SILHH6)en606T6i60 ?

a. Rs. 337.50 b. 87.50

c. 237.50 d. 237

Sasi purchased a house for Rs. 27,75,000 and

spent Rs. 2,25,000 on its interior decoration. He
sold the house to make a profit of 40%. What is
the selling price of the house?

FFQmAIL_6DL (1.27,75,00085@ 6UTHISI6ONTT.

et e Ummisenen(h.2,25,0005 G,
SPGLILBHHDmE 40% BeomLdhSHBE&HeBBTT
oTaN60  DAbHNL 19651 NBLIENEIETEN6V6TEIT60

a. Rs. 31,20,000 b. Rs. 36,00,000

c. Rs. 42,00,000 d. Rs. 48,00,000

A fruit seller bought 8 boxes of grapes at Rs.150
each. One box was damaged. He sold the

37.

38.

39.

remaining boxes at Rs. 190 each. Find the
Profit/Loss Percentage.

@®m up olwrurfl 8 QuLly, HIT nFHemen, @b
QuLly .150 eiHD eurmIFeTT. DUFH6L @
Quly FHmi g WS NBHSHBSHI. LBSHLpsiTeN
QUL semeT @ UL I9R.190 6l6IB  alen6vdHE,
aiamit. eoru/bL L FHeiHD  HTeu.

a. Profit 130% b. Profit 10.83%

c. Loss 130% d. Loss 10.83%

A man buys 10 articles for Rs. 8 and sells them at
the rate of Rs. 1.25 per article. His gain is

QM &He 10 LFlemidben oh.8-b@E eummhid
SiUBeNmBeDH.1.25 aiHld 10 Lglemibensn eNBmm.
SIOUHENLLI  6OTLILD

a.20%  b.50% c. 191 % d. 561 %
2 4

A trader buys an article for Rs. 1,200 and marks it
30% above the C.P. He then sells it after allowing
a discount of 20%. Find the profit percent.
@melwrurfl @m GQuTmsnenh.1,200 euTmHIS 6.
Ueioipen oL bs alemevd@ Bsv 30% @BiHs
alenevd@ 20%HeieEnLY QBTHHIMIT. alBs
elleneoulledr somLid % etesrenr?

a. 5% b. 4 %% c. 4% d. 6%

A trader buys an article for Rs. 1,200 and marks it
30% above the cost price. He then sells it after
allowing a discount of 20%. Find the selling price
and profit percent.

@m elwmurfl @m Oummensrep.1,2005E
QUTRIBGITT. LN6IL] DH6T DL SHHalmevdd BGlosv
30% 2 _witHA,eGMNHH aleney bdeT. QHBE
20% HeliempLIg COBETHHSH NBBIT 6660, alBLIEN 6
alemev OBMID S6VTL FHHID FHT6Ib.

a. Rs. 1,560, 6% b. Rs. 1,428, 4%

c. Rs. 1,248, 4% d. Rs. 1,650, 6%
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40. The cost price of 16 notebooks is equal to the
selling price of 12 notebooks. Find the gain
percent
16 Grml Bl UdhHamhiseaien DL bHs alemsv 12
CBTL(B Ybhpsmibeis alBLsmer allensvdsdEs
FIoID. BH6 S6vTLl FHNHID HT6NIHb.

a.24% b.331/3% c.16% d. 12%
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